WORK ORDER 17 - Premise Funding for SFY 2024/25 - 23-556 (ABAWD)

Cal**SAWS** BenefitsCal (Portal/Mobile)
Work Order

CalSAWS – BenefitsCal (Portal/Mobile) Project Work Order 17: Premise Funding for SFY 2024/25 - 23-556 (ABAWD)

Table of Contents

1.0	Work Order Submission & Approval Form	3
2.0	Work Order Impact Analysis	
2.1	Work Order Hours / Fees	
2.2	Payment Schedule (If Applicable)	7
2.3	Consortium Responsibilities	8
3.0	Work Order Execution	9

1.0 Work Order Submission & Approval Form

Work Order Number	17		
Work Order Title	Premise Funding for SFY 2024/25 - 23-556 (ABAWD)		
Submitted Date	10/04/24		
Originator	California Department of Social Services (CDSS) Request		
Priority	 Select the estimated priority level of the requested Work Order: Critical – is necessary to avoid potential project stoppage. High – is necessary to avoid potential significant impact to the goals and objectives of the project. Medium – is necessary to avoid potential impact to the operational efficiency of project execution. Low – needs to be addressed, but the estimated impact to the 		
Detailed Description	project is minimal.		
Review Date			
Type of Work Order	■ Fixed Fee □ Time & Material		

2.0 Work Order Impact Analysis

The changes required to support this Work Order by resource type and a brief description of work to be completed is provided below.

Design Impact	 Design updates to the application flow to allow users to report ABAWD exemptions Updates to customer dashboard to display ABAWD timeclocks. Updates to APIs to send and receive data from CalSAWS and other partners as applicable Identify YouTube videos that require revision to reflect recent system improvements Identify help center changes required to reflect latest revisions to BenefitsCal Provide design prototypes and follow an iterative approach for the user experience Conduct user research with Customers, CBOs and Counties Develop design documents Conduct usability tests Engage stakeholders through UCD monthly and other meetings Support Advocates and State Partners and County validation teams with testing of the application in the UAT environment Support Consortium and QA team with testing of the application in the UAT environment
Development	 Provide design inputs from system architecture and framework standpoint Update Application flow to allow for reporting of ABAWD exemptions Build new APIs and support partner systems Update customer dashboard Update help center and YouTube videos Support Advocates and State Partners and County validation teams with testing of the application in the UAT environment Support Consortium and QA team with testing of the application in the UAT environment
Testing	 Participate in design sessions and provide inputs from testing standpoint for the new APIs and screen changes functionality Test the new app flow, and changes to customer dashboard and APIs in BenefitsCal Perform end to end data set up and tests with CalSAWS to validate functionalities Support Advocates and State Partners and County validation teams with testing of the application in the UAT environment Support Consortium and QA team with testing of the application in the UAT environment

CalSAWS – BenefitsCal (Portal/Mobile) Project Work Order 17: Premise Funding for SFY 2024/25 - 23-556 (ABAWD)

Performance Testing	 Analyze proposed design and provide inputs from performance standpoint Conduct performance analysis of the app flows, customer dashboard and APIs
Training	 Educate Counties for change management Conduct webinars with Counties and CBOs for the changes
Communications	 Project Manager to provide planning, communications, and status updates
Security	 Analyze proposed design and provide inputs from security standpoint
Software/Licenses	• None
Deliverables (New and Updated)	• None
Schedule	 None
Other	 None
Assumptions	 Stakeholders will be available to attend all requirements and design sessions. The estimate is based on the high-level information received. The actual effort hours may change based on requirements verification session/s. There will not be any change to the infrastructure. Downstream impacts to partner systems including data exchanges, screen impacts, notices will be managed by respective partners (CalSAWS, ForgeRock, Hyland, FIS). State Partners, Advocates, CBOs, Counties will be involved in the UCD research activities. CalSAWS will be available for API joint design sessions. BenefitsCal appearance will not be updated.

2.1 Work Order Hours / Fees

Estimated hours required to support this Work Order by resource type and a brief description of work to be completed, if applicable summarized below:

Туре	Description	Rate	Hours	Amount
Design	Design Business Analyst		209	\$24,096.00
Design UI/UX Design Analyst		\$148.23	209	\$30,980.00
Design	UCD Research Analyst	\$148.23	209	\$30,980.00
Design	Functional Lead	\$164.70	167	\$27,505.00
Design	UI/UX Design Lead	\$164.70	167	\$27,505.00
Design	UCD Research Lead	\$164.70	167	\$27,505.00
Development	Junior Program Analyst	\$148.23	750	\$111,173.00
Development	Senior Program Analyst	\$159.21	667	\$106,193.00
Development	Sr. Business Analyst	\$115.29	584	\$67,329.00
Development	App Dev Lead	\$137.25	461	\$63,272.00
Project Management	Project Manager	\$126.27	207	\$26,138.00
Project Management	PMO Analyst	\$126.27	334	\$42,174.00
Security	Security Engineer	\$142.74	82.977	\$11,844.00
Performance	Performance Engineer	\$159.21	83	\$13,214.00
Training	Trainer	\$120.78	83	\$10,025.00
DevOps	Cloud Engineer	\$131.76	209	\$27,538.00
Test	Test/QA Lead	\$109.80	500	\$54,900.00
Test Tester		\$72.47	779	\$56,454.00
Test	Automation Tester	\$109.80	375	\$41,175.00
	•		Total	\$800,000.00

2.2 Payment Schedule (If Applicable)

This Work Order is funded by the premise funding allocated for SFY24/25,

Payment Point	Description	Milestone Date	WAC Date	Invoice Submission Date	Cost
Design and Development Related SDLC Activities of SCERFRA 23-556 (ABAWD)	Completion of design and development	11/22/24	11/29/24	12/09/24	\$400,000
Testing Related SDLC Activities of SCERFRA 23-556 (ABAWD)	Completion of system integration and County Validation test	01/17/25	01/24/25	02/10/25	\$300,000
Deployment of SCERFRA 23-556 (ABAWD)	Deployment of functionality to Production	01/27/25	02/03/25	02/10/25	\$100,000

Invoice submissions require WAC and approval from the Consortium. The milestone date, the WAC date and the invoice submission date will need Project Manager agreement.

Deliverables listed below will be updated to support this Work Order and upon approval of the Work Order such updates are considered to be part of **Section 5.2 – Portal/Mobile App Deliverables and Services.**

#	Deliverable Title	Description	Deliverable Submission Date
1	DEL 02 Workplan	Updates to the workplan to include work required to implement this Work Order.	Monthly

2.3 Consortium Responsibilities

Work	Work Description
	 Review and approve deliverable updates. Conduct User Acceptance Test (UAT) activities. Communications with the Stakeholders

3.0 Work Order Execution

IN WITNESS WHEREOF, the Consortium has caused this Work Order to be subscribed on behalf of the Consortium and Contractor has caused this Work Order to be subscribed on its behalf by its duly authorized officer, as indicated below.

DELOITTE CONSULTING LLP	CALSAWS CONSORTIUM
Dated:	Dated:
By: Name: Rachel Frey	By: Michael Sylvester, Consortium Chair
Title: Deloitte Principal	By: Kronick Moskovitz Tiedemann & Girard, Consortium Legal Counsel
	By: